Conversion Exam Questions
1.  Express the denary value 109 as

(a) a binary number using an 8-bit byte;

     
(b) an octal number;

     
(c) a hexadecimal number. 

     
(d) a number in binary coded decimal (BCD); 
     
 [8]
2. (a) Express the number 113 (denary) in 

(i) binary

     
(ii) in BCD

     
using an appropriate number of bytes in each case.




[4]
(b) Using the answer obtained in part (a) show how 113 (denary) can be expressed in
(i) octal

     
(ii) hexadecimal.
     
[4]
3. Describe the connection between binary representation and hexadecimal.
     
[2]
4. Explain how the binary value of 78 can be used to write down the equivalent octal value with a minimum amount of calculation.
     
[3]
